BOSCH

Portable Planer
PHO 15-82 | 0 603 272 143

Table of Content

o LR o T U £ 3 1] S PP PPPPPPPPRN 2
LTS =T T 7] o 1=V SRS URUPRN 4
Subject to technical alterations. No liability is accepted for printing errors |18 September Robert Bosch Power Tools GmbH
2023 Max-Lang-Strasse 40-46

DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



I E———— [
Portable Planer | PHO 15-82 | 0 603 272 143

Spare parts list

Item Part Number Description
2 2604 220 411 Field 240V
3 2 604 010 648 Armature 220-230V
3/60 1619 P11 262 Fan
4 2 607 200 367 Switch
5 1 604 460 225 Power supply cord CN 2,65m 2 x 1,5mm
HO7 RN-F
6 2 600 703 007 Grommet a7 MM
7 2 601 035 001 Cable Clip
9 2601 118 263 Manufacturer's nameplate
12 1607 328 028 Suppression Filter
13 2 600 910 005 Needle bearing
16 2 604 449 026 Brush Holder
18 2 603 410 001 Socket head cap screw M3x6,5-4.8
19 2 603 490 022 Screw 4x16
25 2604 736 001 Toothed Belt
26 2 600 590 006 Ratchet Cap
27 2 603 433 000 Screw and washer assembly
28 2 602 026 053 Handle
29 2 600 290 004 Air-Deflector Ring
30 2 605 500 163 Covering hood
32 2 600 100 621 Shim 0,2 MM
33 2 608 000 133 Adjusting Slide
34 1 608 000 091 Base Plate
35 1610910 057 Needle bearing J8xJ12x10 MM
36 2911 061 180 Hex Screw DIN 933-M5x70-8.8
37 2 602 026 052 Handle
39 2 603 342 006 Round Nut M6 LEFTHAND THREADS
40 2 603 342 010 Nut M8
41 2915 011 007 Hex Nut DIN 934-M6-8-A
42 2 606 625 001 Toothed Belt Wheel 7= 18
43 2 606 625 002 Toothed Belt Wheel 7=28
44 2 604 448 062 Connecting Cable L =288 MM WHITE
44/1 2 604 448 160 Cable L =238 MM WHITE
45 2915 061 003 Hex Nut DIN 985-M 5-8-A

46

2918 650 007

Plain Washer DIN 125-A5,3-A2



Portable Planer | PHO 15-82 | 0 603 272 143

Spare parts list

Item Part Number Description I
47 2 604 611 010 Compression Spring
51 2 602 316 000 Blade Holder
52 2 605 510 007 Clamping Jaw
56 2 603 414 027 Stud bolt
57 2601 118 306 Reference Plate
199 1611110855 Sticker
738 2 607 950 004 Offset Screwdriver DIN 911-4
801 2 605 104 866 Housing Section GREEN
810 2 604 321 905 Carbon-Brush Set
814 2 600 905 052 groove ball bearing 8x22x7
850 2 608 584 002 Planer Head
888 2601117 168 Nameplate



Portable Planer | PHO 15-82 | 0 603 272 143

0803272 103

el e <IN Fig. /Abb. 1

—36

lllustration - Type - E

®- Linksgewinde

Left hand thread Anderungen vorbehalten
Filstage gouche Madifications reserved
Rosca izquierda Modifications reservees

Salvo modificaciones

Subject to technical alterations. No liability is accepted for printing errors |18 September 2023

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46

DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



